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Figure 2
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Figure 3
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Figure 4
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Figure 5
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Figure 6
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Figure 7B-C

Input

Anti-Flag 75 kDa

60 kDa

180 kDa
140 kDa

100 kDa
75 kDa

PGC-1a

ALDH?2 75 kDa

60 kDa

45 kDa

35 kDa
B-actin

25 kDa

IP
140 kDa
100 kDa

PGC-1a 75 kDa

75 kDa

ALDH2 —~—— 60 kDa
45 kDa

- o

60 kDa
Anti-Flag 45 kDa

Ve

75 kDa

ALDH?2 60 kDa

140 kDa

PGC-1la
100 kDa
45 kDa
B-actin 35 kDa
25 kDa
140 kDa

PGC-1la

100 kDa
75 kDa

75 kDa
ALDH2 — 60 kDa




Figure 7D
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Figure 8
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Figure 8D

140 kDa
100 kDa

75 kDa
60 kDa

URAT1

— — 100 kDa

SGLT2 = "
‘ = — - YW 75kDa
== === $q 5iDa

35 kDa

NPT2a g,‘.”-é---———--——.~ 25 kDa

15 kDa

B-actin “ 35 kDa

|



